[ Efficiency vs vertpos |
- 05

20.45
(2]

Z 04

0.35
0.3

0.25
0.2

0.15

................................................

efficiency

................................................

oA TR LR RN RN RRRRE LRRLE LRRRN AR

&
l

+*+,+*

BEE o BEE RS SN E SN

Ratio
=
I

1072 10t 1 10 02
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— poMm_CKF_TT retrainOldFiles125_v2_prelimWP_epoch4

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05

0
!

ettici

Ratio

0.9

°85 =20 =10 0 10 20 30

[ Efficiency vs. sim PV z |

N 0.
>
2.0.09
£
50.08
20.07
o)
20.06,
@
(&}
£0.05
()
0.04
0.03
0.02
0.01

104

...............................................

............................................

..................

&

Ratio

i
)
T
4
)|
1
T

o
o)

I
=P

o

o c : r
o

(&3]

LO 15 20
Sim. PV z (cm)



	Contents
	Page 1


